
SAP ABAP table T5JAD {HR company office address JP}

T5JAD

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

LAND1 [CHAR (3)]

STATE [CHAR (3)]

COUNC [CHAR (3)]

T000

MANDT [CLNT (3)] T5JAD-MANDT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] T5JAD-BUKRS = T001-BUKRS 0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 T5JAD-LAND1 = T005-LAND1 
0..N1

T005E

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

 T5JAD-COUNC = T005E-COUNC 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 T5JAD-STATE = T005S-BLAND 

0..N

1


